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202 oddl 700 700 0
= 700

01 = LH 4 bl 700 700 0
SHE S22 700
= 700

SHOEZMZAIE NE 29 4,920 4,920 0
= 2,460
< 738
Al 1,722

101 14l 4,920 4,920 0
= 2,460
< 738
Al 1,722

4 JI2ZtHZ22 a2+ 4,920 4,920 0
SHOI S 2 A& 4,920
= 2,460
= 738
Al 1,722

D02 = R0 N 111,134 11,111 23
< 33,334
Al 77,800

201 £B-2dH| 1,000 1,000 0
< 300
Al 700

01 At 22/l 1,000 1,000 0
DEOHE = PRI LEt=EH| 1,000
< 300
Al 700

401 Al HIZ 201 8] 110,134 110,111 23
< 33,034
Al 77,100

01 A& HI 109,341 99,611 9,730
DEOS = JtRDI 109,341
< 32,796
Al 76,545

03 Al 2 THHI 793 500 293
LEOS = JtRII 793
< 238
Al 555

=t RIIA S 2,600 0 2,600

401 A& HIZ 201 Y] 2,600 0 2,600

01 A& HI 2,600 0 2,600
OrM==0t, 024 XX EHII AAEAH 2,600

&g XSt 5,924,166 4,476,725 1,447,441
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H
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6,000
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4,000

= M
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20,000
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= W

73,200
36,600
18,300
18,300
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6,800

402 2I2tXt=01&

= W
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18,300
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>
=
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Mo
il
A
]
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1
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36,600
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=
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
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= 20,100
Al 80,400

402 RI2EX20| A 201,000 421,100 A 220,100
= 100,500
< 20,100
Al 80,400

02 U2 TEALEZ(0IETHR) 201,000 421,100 A 220,100
HOTHHHAIE 25,000
= 12,500
< 2,500
Al 10,000
SAEFAESFHNTLE(HS,32) 176,000
= 88,000
< 17,600
Al 70,400

ANE MMRSIIgxd 162,020 0 162,020
= 81,010
= 18,892
Al 62,118

402 RI2FX=01 M 162,020 0 162,020
= 81,010
= 18,892
Al 62,118

02 It EALSEZ (01X E) 162,020 0 162,020
AA&E It EHI 1,884
= 942
= 471
Al 471
utE MEAXZAIL 16,048
= 8,024
< 4,012
Al 4,012
EOAsS 7Y 25,568
= 12,784
< 2,557
Al 10,227
gLed= 2el 12,920
= 6,460
= 1,292
Al 5,168
A AHEHI 5,600
= 2,800
< 560
Al 2,240
ety 2 M & 44,000
= 22,000
< 4,400
Al 17,600
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SA: MRBAY
M ae X5
gl =4 8y x4y (el &)
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SA - BB (3H) - MBAY - BAES O &t 24 il D=2
01 M= bl 3,000 3,000 0
= X0 &Cl 22| 3,000
401 Al HI L 201 Y] 400,000 200,000 200,000
01 Al &bl 396,400 198,560 197,840
SAU =5 & &0 2e 99,100
Hr2E =N =222 99,100
a2 sXA0 2E58A &X 99,100
=& AMNAHe sl =4 99,100
03 Al 20 bl 3,600 1,440 2,160
SAU =5 & &0 2el 900
Hesm SN0 =2 900
e+ =2& sXA0 E58A X 900
AHAHR SAY =4 900
NXH SAl=, Bas, MS02s S T8AM(Y 60,000 60,000 0
N EH)
Xl 30,000
T 6,000
Al 24,000
401 AlEHI L 201 Y] 60,000 60,000 0
Xl 30,000
T 6,000
Al 24,000
01 Al &bl 59,448 59,448 0
&= T4 59,448
Xl 29,724
T 5,945
Al 23,779
03 Al 2 0H bl 552 552 0
HaE x4 552
Xl 276
& 55
Al 221
=25 4o B XM (SHE= 22l) 10,000 10,000 0
T 3,000
Al 7,000
401 AlIEHI L 201 Y] 10,000 10,000 0
T 3,000
Al 7,000
01 Al &bl 10,000 10,000 0
SEZE 22| 10,000
< 3,000
Al 7,000
oE SR A3 1,187,351 1,133,223 54,128
= 36,726
Xl 240,000
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Al 782,380
MEZ3H AL 25,000 20,000 5,000
307 gl2tol & 25,000 20,000 5,000
04 DI2HHALALSE E X 25,000 20,000 5,000
T SZ801 2| #A 15,000
S0t 82 =X 10,000
S22 22| 112,512 207,416 A 94,904
101 @124l 57,512 52,416 5,096
04 JIZHHZ2XNSE+ 57,512 52,416 5,096
S&tz 22] (130km/63= ) 57,512
== 36,270
=g 7,254
= DUE= 1,612
-= &l 1,560
-AHEE 10,816
201 Let2d] 5,000 5,000 0
01 At 22l 5,000 5,000 0
St BYANE RAES 5,000
401 AIEHI L 201 50,000 150,000 100,000
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SFM4TAEFAYE xd 22 389,700
Xl 194,850
< 97,425
Al 97,425
02 Zeltl 7,500 7,500 0
SFMNHFLE =4 2 7,500
Xl 3,750
< 1,875
Al 1,875
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Z2R2 Xl Bl Z (300X /20kg) 2,500
401 Al B2 28I 35,000 30,000 5,000
01 A& HI 35,000 30,000 5,000
FBSAUSR JtRI AL 35,000
405 XHoHF S HI 4,700 0 4,700
01 XL =2 ZFH S| 4,700 0 4,700
SOl el Xl 8CH 3,200
ol =21 204 1,000
A0 20 500
SANMEA SMZ HU(EX) 80,000 0 80,000
Xl 40,000
< 8,000
Al 32,000
401 Al HI & 28I 80,000 0 80,000
Xl 40,000
< 8,000
Al 32,000
01 A& HI 80,000 0 80,000
SAMEA SLZ FH| 80,000
Xl 40,000
< 8,000
Al 32,000
=ofld MESXNHEY /A 22 A& 55,000 12,190 42,810
= 27,500
= 5,500
Al 22,000
307 21201 A 55,000 12,190 42,810
= 27,500
= 5,500
Al 22,000
05 RIZt2IEt = 55,000 12,190 42,810
=04 S 29 55,000
= 27,500
< 5,500
Al 22,000
MEAMEIAER0 2S XA 18,452 12,830 5,622
= 9,226
< 1,845
Al 7,381
101 @14 Hl 18,452 12,830 5,622
= 9,226
= 1,845
Al 7,381
04 JIZHHZ22XREE S 18,452 12,830 5,622
=2 M & XS A 18,452
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2,791
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= M W
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= M W
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Z W

18,410
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7,364
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04 0IZtHZ22HsSE+

AEMENOIE SSO0HLIXM
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SN NYZHED
M. AtE KRS
S AlRE a8 22 (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AFR2 22l Yl 7,000 7,000 0
ANgdot =g 5,000
N0t 28EI =& 2,000
202 (4] 5,000 4,900 100
01 2L Y] 5,000 4,900 100
ANSUA 2R =X 5,000
401 Al HI L £ 0HHI 113,000 0 113,000
01 A& HI 106,000 0 106,000
A 0F =IH3RD| 106,000
02 Zeltl 6,000 0 6,000
Al L0 =131 6,000
03 AlE 201l 1,000 0 1,000
Al 0F IR 1,000
=2E3J3 3,159,363 1,546,344 1,613,019
= 9,226
Xl 100,000
= 157,133
Al 2,893,004
=2ESJG 2,840,911 1,246,360 1,594,551
Xl 100,000
= 65,288
Al 2,675,623
=2=E3&3 1,240,835 422,180 818,655
101 @121t 184,835 146,740 38,095
04 JI2ZtH 22 XNEE % 184,835 146,740 38,095
Al &Y @EHE 22| 136,648
23 93,000
-EELY 24,800
A2 E 18,848
HES S+ sE 22 28,768
-Jl23 24,800
-2 E 3,968
SMEX 22l 19,419
-Jl23 16,740
A EES 2,679
201 Bt A H| 4,000 4,000 0
01 At 22l Yl 4,000 4,000 0
Al 219 R 29 4,000
206 M= Hl 72,000 60,000 12,000
01 X2 bl 72,000 60,000 12,000
ANEE QENSH (2L, 85X, H2,5%) 60,000
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AMUHwe 2C0el =4 60,000
FREZY I3 22| 99,100
FREZY JiZstd 22 60,000
HEdH =357 AKX 22l 99,100
=X S SHAE &M 50,000
FREZYH JIZ233 AIE= 60,000
MOHAH(GH2HAH) EXA X 198,560
SHtE SEESH FAxH 347,480

03 Al S THHI 5,760 2,340 3,420
FREZY I3 22| 900
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RGNS (SHE S, =4 014, EF) 49,460
SEEXNGIZ2A(FE, 0,28 J= D) 49,460
HEol==% AXO0A+2E =4 148,920
SELN>=2E USSR =2 JH S 148,920
AIJHR Z LS Jt2= F] 30,000
AUR Jt24 JH(Udz2,BE8) 46,000
e +==2F 2+ 24 30,000

03 AIE S THHI 6,120 2,880 3,240
tHol2 Jt28 ==2tc| 1,080
2= 9427 MA 900
sXNSE 2+ 2l 900
g2X9 Itz 2e 540
SL2XY Jzs e 540
el ==2%& X0 2 =4 1,080
PHIMNSE WU IIZ24 MY S 1,080

405 RH&HE S HI 2,700 1,200 1,500

01 AL EFSFHSHI 2,700 1,200 1,500
& ED| 800
22A(E2D1) 700
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SN MEBAD
B 233
el RETRG CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

L3342 Al - THUI2A 22 18,000
fza==3 ANERA 9,000
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